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3(1'$+8/8$1
7HPSDW� 3HQJRODKDQ� 6DPSDK� 7HUSDGX� �7367��

PHUXSDNDQ� WHPSDW� \DQJ� GLSHUXQWXNDQ� XQWXN� NHJLDWDQ�
SHQJXPSXODQ��SHPLODKDQ��SHQJJXQDDQ�XODQJ��SHQGDXUDQ�
XODQJ��SHQJRODKDQ�GDQ�SHPURVHVDQ� DNKLU� VDPSDK� �88�
5,� 1R� ��� WDKXQ� ������� /RNDVL� 7367� ELVD� EHUDGD� GL�
VXPEHU� VDPSDK� GDQ� GL� ORNDVL� 73$�� 6HKLQJJD�
NDSDVLWDVQ\D�ELVD�NHFLO��VHGDQJ�GDQ�EHVDU�VHVXDL�GHQJDQ�
NHWHUVHGLDDQ� ODKDQ�GDQ�YROXPH� WLPEXODQ�VDPSDK�\DQJ�
DNDQ� GLRODK� �6DKZDQ�� ������� 6DODK� VDWX� 7367� GL�
.DEXSDWHQ� 6LGRDUMR� EHUGDVDUNDQ� GDUL� KDVLO� SHQLQMDXDQ�
ODSDQJDQ�SHQJRODKDQ�OLQGL�EHOXP�RSWLPDO�NDUHQD�KDQ\D�
PHQ\HGLDNDQ� EDN� WDPSLQJ� OLQGL� WDQSD� DGDQ\D� SURVHV�

\DQJ� OHELK� ODQMXW�� /LQGL� \DQJ� WLGDN� GLRODK� GHQJDQ�
EDLN� GDSDW� PHQFHPDUL� OLQJNXQJDQ� \DQJ� DGD� GL�
VHNLWDU�� 6HKLQJJD� GLSHUOXNDQ� DGDQ\D� SHQJRODKDQ�
\DQJ� PDPSX� PHQJXUDQJL� NDQGXQJDQ� SHQFHPDU�
\DQJ�DGD�GL�OLQGL�

0(72'(

%DKDQ
%DKDQ� \DQJ� GLEXWXKNDQ� GDODP� SHQHOLWLDQ�

LQL�DGDODK�OLQGL�GDUL�VDODK�VDWX�7367�GL�.DEXSDWHQ�
6LGRDUMR��6DDW�LQL�OLQGL�GDUL�7367�EHOXP�GLODNXNDQ�
SHQJRODKDQ��OLQGL�\DQJ�GLKDVLONDQ�ODQJVXQJ�GLDOLUNDQ�
NH� EDN� SHQDPSXQJ� WDQSD� DGD� SHQJRODKDQ� OHELK�



ODQMXW�� 6HODLQ� OLQGL�� EDKDQ� \DQJ� GLEXWXKNDQ� DGDODK�
$OXPLQLXP� 6XOIDWH� �$O�62��� GDQ 3RO\� $OXPXQLXP�
&KORULGH �3$&��

3HUDODWDQ
3HUDODWDQ�\DQJ�GLEXWXKNDQ�GDODP�SHQHOLWLDQ�LQL�

DQWDUD� ODLQ�� SHQJDGXN� �PL[HU�� GDQ� UHDNWRU� XML� �EDN�
SHQDPSXQJ�� UHDNWRU� NRDJXODVL� � IORNXODVL��� 3HQHOLWLDQ�
PHQJJXQDNDQ�VLVWHP�EDWFK GHQJDQ�YROXPH�OLQGL�VHEHVDU�
�� /�KDUL�� VHEHOXPQ\D� GLODNXNDQ� SHQJHQFHUDQ� GHQJDQ�
YDULDEOH�����GHQJDQ�QLODL�VDWX�XQWXN�OLQGL�GDQ�WLJD�XQWXN�
DLU�

0HWRGH�3HQHOLWLDQ
3HQHOLWLDQ� GLDZDOL� GHQJDQ� PHODNXNDQ�

SHPEXDWDQ� UHDNWRU� \DQJ� DNDQ� GLJXQDNDQ�XQWXN� SURVHV�
NRDJXODVL�± IORNXODVL�GDQ�VHGLPHQWDVL�OLQGL��6HWHODK�LWX�
SHQJDPELODQ� VDPSHO� OLQGL� GL� 7367� XQWXN� VHODQMXWQ\D�
GLODNXNDQ� SURVHV� SHQJRODKDQ�� 6HEHOXPQ\D� OLQGL�
GLHQFHUNDQ� WHUOHELK� GDKXOX� GHQJDQ� YDULDEHO� �����
.HPXGLDQ�OLQGL�GLPDVXNNDQ�NHGDODP�UHDNWRU�NRDJXODVL�
± IORNXODVL�\DQJ�NHPXGLDQ�GLWDPEDKNDQ�NRDJXODQ��3DGD�
UHDNWRU���SURVHV�NRDJXODVL�± IORNXODVL�GDQ�VHGLPHQWDVL�
WDQSD�PHQJJXQDNDQ�NRDJXODQ��VHGDQJNDQ�SDGD�UHDNWRU�
��PHQJJXQDNDQ�NRDJXODQ�$O�62� GHQJDQ�GRVLV����J�/�
GDQ�SDGD�UHDNWRU���PHQJJXQDNDQ�NRDJXODQ�3$&�GHQJDQ�
GRVLV� ��� J�/�� 6HWHODK� LWX� GLODNXNDQ� SURVHV� NRDJXODVL�
VHODPD����PHQLW�GHQJDQ�NHFHSDWDQ�SHQJDGXNDQ�����USP�
GDQ�SURVHV�IORNXODVL�VHODPD����PHQLW�GHQJDQ�NHFHSDWDP�
��� USP�� 3URVHV� NRDJXODVL� ± IORNXODVL� EHUWXMXDQ� XQWXN�
PHQFDPSXU� NRDJXODQ� GHQJDQ� OLQGL� VHKLQJJD� NRDJXODQ�
GDSDW�PHPEHULNDQ�SHUXEDKDQ�\DQJ�VLJQLILNDQ�WHUKDGDS�
SDUDPHWHU� OLQGL�� .HPXGLDQ� GLODNXNDQ� SURVHV�
VHGLPHQWDVL� VHODPD� ��� MDP�� 3HQJDPELODQ� VDPSHO�
GLODNXNDQ� VHWHODK� SURVHV� VHGLPHQWDVL�� GLPDQD� DNDQ�
GLODNXNDQ� DQDOLVLV� SDUDPHWHU� OLQGL� GL� /DERUDWRULXP�
'LQDV� /LQJNXQJDQ� +LGXS� SURYLQVL� -DZD� 7LPXU��
.HPXGLDQ�GLODNXNDQ�SHPEDQGLQJDQ�GDUL� VHLWDS�YDULDVL�
NRDJXODQ�XQWXN�PHQHQWXNDQ�NRDJXODQ�PDQD�\DQJ�OHELK�
EDLN�XQWXN�PHPEXDW�SDUDPHWHU�OLQGL�VHVXDL�GHQJDQ�EDNX�
PXWX�OLQGL�

*DPEDU��� 5HDNWRU .RDJXODVL�� )ORNXODVL�GDQ�
6HGLPHQWDVL

+$6,/

+DVLO�8ML�.RDJXODVL�± )ORNXODVL�GDQ�6HGLPHQWDVL
3DGD� SHQHOLWLDQ� LQL� SURVHV� NRDJXODVL� ±

IORNXODVL�GDQ�VHGLPHQWDVL�GLODNXNDQ�GHQJDQ�YDULDVL�
MHQLV� NRDJXODQ� \DLWX� WDQSD� NRDJXODQ�� NRDJXODQ�
$O�62� GDQ� NRDJXODQ� 3$&�� 3URVHV� WHUVHEXW�
PHQJKDVLONDQ� KDVLO� XML� ODERUDWRULXP� GHQJDQ�
SDUDPHWHU�S+��7'6��766��%2'���&2'�GDQ�1+��1�
VHEDJDL�EHULNXW�
7DEHO� ���� +DVLO� 8ML� .RDJXODVL� � )ORNXODVL� GDQ�
VHGLPHQWDVL�GHQJDQ�SHUEHGDDQ�YDULDEHO�NRDJXODQ
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3HQJDUXK� 9DULDVL� .RDJXODQ� 7HUKDGDS� 'HUDMDW�
.HDVDPDQ�DWDX�S+

'DUL� WDEHO� GL� DWDV� WHUOLKDW� EDKZD� S+�SDGD�
SURVHV� NRDJXODVL� ± IORNXODVL� GDQ� VHGLPHQWDVL�
PHQJDODPL� SHQXUXQDQ� VHWHODK� SHQDPEDKDQ�
NRDJXODQ�$O�62� GDQ�3$&��'HQJDQ�QLODL� S+�SDGD�
WDQSD�NRDJXODQ�VHEHVDU������SDGD�$O�62� VHEHVDU�����
GDQ� SDGD� 3$&� VHEHVDU� ����� +DO� LQL� GLVHEDENDQ�
VHPDNLQ�EHVDU�GRVLV�NRDJXODQ�GDODP�VXDWX� ODUXWDQ��
PDND� VHPDNLQ� EHVDU� NDQGXQJDQ� LRQ� +�� GDODP�
ODUXWDQ� WHUVHEXW� NDUHQD� DGDQ\D� SURVHV� KLGUROLVD�
�5XVGL� GNN���������3DGD�SHQDPEDKDQ�$O�62� MXJD�
PHQXUXQNDQ� QLODL� S+�PHQMDGL� DVDP� NDUHQD� NHWLND�
GLODUXWNDQ� GDODP� DLU� DNDQ� PHQJKDVLONDQ� VHQ\DZD�
+�62� �$]L]�GNN���������+DVLO�QLODL�S+�GDUL�YDULDVL�
NRDJXODQ� SDGD� VDDW� WDQSD� NRDJXODQ�� NRDJXODQ�
$O�62� GDQ�3$&�SDGD�OLQGL�PDVLK�EHOXP�PHPHQXKL�
EDNX�PXWX�\DQJ�WHODK�GLWHQWXNDQ�

3HQJDUXK�9DULDVL�.RDJXODQ�7HUKDGDS�7'6
+DO�LQL�GLVHEDENDQ�NDUHQD�DGDQ\D�SHQJDUXK�

SHQDPEDKDQ� ODUXWDQ�$O�62� \DQJ� FHQGHUXQJ�GDSDW�
PHQXUXQNDQ� 7'6� DLU� �$]L]� GNN�� ������� 6HPDNLQ�
EDQ\DN�GRVLV�NRDJXODQ�\DQJ�GLWDPEDKNDQ�SDGD�OLQGL�
PHQ\HEDENDQ� QLODL� 7'6� PHQJDODPL� SHQXUXQDQ��
1DPXQ� MLND� SHQDPEDKDQ� NDGDU� NRDJXODQ� \DQJ�
EHUOHELK� GDSDW� PHPEHQWXN� NHPEDOL� GHIORNXODVL��
VHKLQJJD� PHQ\HEDENDQ� QLODL� 7'6� PHQJDODPL�
NHQDLNDQ��%XGLPDQ�GNN��������

+DO� LQL� MXJD�GLVHEDENDQ� VHPDNLQ� ODPDQ\D�
ZDNWX� SHQJHQGDSDQ� VHWHODK� SURVHV� NRDJXODVL� ±



IORNXODVL� PDND� PHQJDNLEDWNDQ� SHUVHQWDVH� SHQXUXQDQ�
7'6�PHQLQJNDW��+DO� LQL� NDUHQD� VHLULQJ� GHQJDQ�ZDNWX�
SHQJHQGDSDQ�PDND� IRXOLQJ� \DQJ� WHUMDGL� MXJD� VHPDNLQ�
PHQLQJNDW� GDQ� PHPEXDW� VHPDNLQ� EDQ\DN� ILOWHU� FDNH�
\DQJ� GDSDW� WHUEHQWXN� SDGD� SHUPXNDDQ�PHPEUDQ� \DQJ�
PHPEXDW� SHUVHQWDVH� SHQXUXQDQ� 7'6� PHQLQJNDW�
�.DUDPDK�GNN���������

3HQJDUXK�9DULDVL�.RDJXODQ�7HUKDGDS�766
+DVLO� SHQJXNXUDQ� 766� GHQJDQ� GHQJDQ�

NRDJXODQ� $O�62� GDQ� 3$&� PHQJDODPL� SHQXUXQDQ�
VHSHUWL�WHUOLKDW�SDGD�WDEHO�GL�DWDV��3DGD�$O�62� QLODL�766�
WXUXQ�PHQMDGL�����PJ�/�VHGDQJNDQ�SDGD�3$&�PHQMDGL�
����PJ�/��+DO�LQL�GLVHEDENDQ�NDUHQD�$O�62� PHPLOLNL�
PXDWDQ�HOHNWURQ�SRVLWLI��VHGDQJNDQ�SDGDWDQ�WHUVXVSHQVL�
PHPLOLNL� HOHNWURQ� QHJDWLI�� MLND� NHGXD� ]DW� LQL� EHUWHPX�
PDND� DNDQ� WHUMDGL� UHDNVL�� 'HQJDQ�ZDNWX� WLQJJDO� \DQJ�
ODPD�SDGDWDQ�WHUVXVSHQVL�DNDQ�WHULNDW�ROHK�$O�62� \DQJ�
VHODQMXWQ\D� DNDQ� PHPEHQWXN� IORN� ± IORN� GDODP� OLQGL��
)ORN�± IORN�WHUVHEXW�DNDQ�PHQJHQGDS�GHQJDQ�VHQGLULQ\D�
VHFDUD�JUDYLWDVL�SDGD�VDDW�SURVHV�VHGLPHQWDVL��1LQJVLK��
������

3HQJDUXK�9DULDVL�.RDJXODQ�7HUKDGDS�%2'�

7HUOLKDW� SDGD� WDEHO� GL� DWDV� QLODL� %2'�

PHQJDODPL�SHQXUXQDQ�SDGD�NRDJXODQ�$O�62�GDQ�3$&�
GLEDQGLQJ� GHQJDQ� WDQSD� NRDJXODQ�� 3DGD� $O�62� QLODL�
%2'� ����� PJ�/� VHGDQJNDQ� SDGD� 3$&� ����� PJ�/��
3HQXUXQDQ�QLODL�%2'� \DQJ� WHUMDGL� NDUHQD� DGDQ\D� LRQ�
$O�� GL�GDODP� ODUXWDQ��PDND�DNDQ�EHUHDNVL�GHQJDQ� LRQ�
2+� \DQJ�EHUDVDO�GDUL�KDVLO�LRQLVDVL�DLU�DWDX�DONDOLQLWDV�
DLU� VHKLQJJD� DNDQ� PHQJHQGDS� PHPEHQWXN� IORN�
DOXPLQLXP� KLGURNVLGD� GDQ� DNLEDW� GDUL� DGDQ\D� JD\D�
JUDYLWDVL��0DQXUXQJ���������

3DGD� 3$&� WHUMDGL� SHQXUXQDQ� GLVHEDENDQ�
VHEDJLDQ�SDUWLNXODW�\DQJ�DGD�GL�GDODP�OLQGL�WHODK�WHULNDW�
GDQ� PHQJHQGDS� EHUVDPD� GHQJDQ� NRDJXODQ� VHKLQJJD�
PHQXUXQNDQ� MXPODK� SDUWLNHO� \DQJ� DGD� GL� GDODP� OLQGL��
GHQJDQ�SHQXUXQDQ� MXPODK�SDUWLNHO�PDND�RNVLJHQ�\DQJ�
GLSHUOXNDQ� XQWXN�PHQJRNVLGDVL� VHQ\DZD� RUJDQLN� MXJD�
PHQXUXQ�� VHKLQJJD� QLODL� %2'� PHQMDGL� UHQGDK �$O�
.GDVL�GNN���������.RDJXODQ�3$&�GHQJDQ�NDGDU�NORULGD�
RSWLPDO� GDODP� IDVH� FDLU� \DQJ� EHUPXDWDQ� QHJDWLI� DNDQ�
FHSDW�EHUHDNVL�GDQ�PHUXVDN�LNDWDQ�]DW�RUJDQLN�WHUXWDPD�
LNDWDQ�NDGDU�QLWURJHQ��3DUDUDMD��������

3HQJDUXK�9DULDVL�.RDJXODQ�7HUKDGDS�&2'
1LODL�&2'�SDGD�NRDJXODQ�$O�62� OHELK�NHFLO�

GDULSDGD� NRDJXODVL�IORNXODVL� GDQ� VHGLPHQWDVL� WDQSD�
NRDJXODQ��KDO�LQL�GLVHEDENDQ�NDUHQD�$O�62� PHUXSDNDQ�

VXDWX� NRDJXODQ� \DQJ� GDSDW� PHQJKLODQJNDQ� DWDX�
PHQJXUDQJL� NDQGXQJDQ� ]DW� ± ]DW� WHUVXVSHQVL� \DQJ�
DGD� GL� GDODP� DLU�� EDLN� LWX� EDKDQ� RUJDQLN� PDXSXQ�
DQRUJDQLN��$SDELOD�]DW�WHUVXVSHQVL�VHPDNLQ�VHGLNLW��
PDND� DNDQ� PHQXUXQNDQ� NHEXWXKDQ� RNVLJHQ� NLPLD�
DWDX�&2'��$]L]�GNN���������3DGD�3$&�QLODL�&2'�
MXJD�OHELK�NHFLO�\DQJ�GLVHEDENDQ�ROHK�SHQ\LVLKDQ�]DW�
± ]DW� RUJDQLN� \DQJ� EHUXSD� SDGDWDQ� NRORLG RUJDQLN�
\DQJ� DGD� GL� GDODP� OLQGL�� +DO� LQL� WHUMDGL� NDUHQD�
SDUWLNHO� NRORLG� \DQJ� EHUVLIDW� RUJDQLN� PHPLOLNL�
PXDWDQ�QHJDWLI�GDQ�SHQDPEDKDQ�NRDJXODQ�SDGD�OLQGL�
DNDQ�PHPEHQWXN�PLNURIORN�VHKLQJJD�SDGD�DNKLUQ\D�
DNDQ�PHPEHQWXN�SDUWLNHO�GHQJDQ�XNXUDQ�\DQJ�OHELK�
EHVDU �6LUHJDU��������

3HQJDUXK�9DULDVL�.RDJXODQ�7HUKDGDS�1+��1
3DGD�SHQDPEDKDQ�NRDJXODQ�3$&� WHUQ\DWD�

PHPEXDW� QLODL� 1+��1� GDODP� OLQGL� PHQMDGL� OHELK�
NHFLO� GLEDQGLQJ� GHQJDQ� YDULDVL� MHQLV� NRDJXODQ�
ODLQQ\D��+DO� LQL� GLNDUHQDNDQ�NDUDNWHULVWLN� DPRQLDN�
GL� GDODP DLU� EHUEHQWXN� DPPRQLXP� �1+�2+��� ELOD�
DPPRQLXP� EHUHDNVL� GHQJDQ� NRDJXODQ� 3$&� PDND�
LRQ�±LRQ�GDUL�SROLPHU�3$&�NDQ�PHQJLNDW� VHQ\DZD�
SRVLWLI� \DQJ� DGD� GL� GDODP� +� GDQ� DNDQ� EHUXEDK�
PHQMDGL�PRQRPHU�± PRQRPHU�UDQWDL�SHQGHN��6DLG��
������� 6HGDQJNDQ� SDGD� SHQDPEDKDQ� $O�62�� QLODL�
1+��1�PHQJDODPL�SHQLQJNDWDQ�GLVEDQGLQJ�GHQJDQ�
NRDJXODQ�ODLQ��+DO�LQL�GLVHEDENDQ�NDUHQD�DPPRQLXP�
GHQJDQ�$O�62� EHUWHPX�PDND�NHGXD�VHQ\DZD�DNDQ�
PHQJDODPL� NHVXOLWDQ� XQWXN� EHUDNVL� �6DLG�� �������
6HKLQJJD� SHQDPEDKDQ� NRDJXODQ� 3$&� VDQJDW�
EHUSHQJDUXK� WHUKDGDS�SHQXUXQDQ�QLODL�1+��1�SDGD�
OLQGL���

.(6,038/$1
%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� \DQJ� WHODK� GLODNXNDQ�
SDGD�SHQJRODKDQ�OLQGL�GL�VDODK�VDWX�7367�.DEXSDWHQ�
6LGRDUMR�GHQJDQ�PHQJJXQDNDQ�PHWRGH�NRDJXODVL�±
IORNXODVL� GDQ� VHGLPHQWDVL� GHQJDQ� YDULDVL� MHQLV�
NRDJXODQ� \DLWX� WDQSD� NRDJXODQ�� NRDJXODQ� $O�62�

GDQ�3$&��+DVLO�SHQJXNXUDQ�SDUDPHWHU�SDGD� VHWLDS�
YDULDVL�NRDJXODQ�GDSDW�GLVLPSXONDQ�EDKZD�NRDJXODQ�
$O�62�� GHQJDQ� VRVLV� ��� J�/� \DQJ� GLWDPEDK� SDGD�
VDPSHO� OLQGL� PDND� VHPDNLQ� NHFLO� QLODL S+�� 7'6��
766�� %2'� GDQ� &2'� GDUL� OLQGL�� 6HGDQJNDQ� SDGD�
SHQDPEDKDQ� NRDJXODQ� 3$&� GHQJDQ� GRVLV� ��� J�/�
PDND�VHPDNLQ�NHFLO�QLODL�1+��1�SDGD�OLQGL�



'$)7$5�3867$.$
$O�.GDVL� $�� ,GULV� $�� 6DHG� .�� *XDQ� &7�� ������

³7UHDWPHQW� RI� 7H[WLOH� :DVWHZDWHU� %\�
$GYDQFHG� 2[LGDWLRQ 3URFHVVHV�$� 5HYLHZ´��
*OREDO�1HVW�����������

%XGLPDQ�� $QWRQ�� &DQGUD� :DK\XGL�� :HQQ\� ,UDZDWL��
+HUPDQ� +�� ������ ³.LQHUMD� .RDJXODQ� 3RO\�
$OXPLQLXP� &KORULGH� �3$&�� GDODP�
3HQMHUQLKDQ� $LU� 6XQJDL� .DOLPDV� 6XUDED\D�
0HQMDGL�$LU�%HUVLK´��:LG\D�7HNQLN�������� �
��

.DUDPDK� (YD�)DWKXO��)HG\�*.��������³3HUEDQGLQJDQ�
3UDODNXDQ� .RDJXODVL� GHQJDQ� 0HQJJXQNDQ�
)H62���+�2� 	� $O��62������+�2� 7HUKDGDS�
.LQHUMD� 0HPEUDQ� 0LNURILOWUDVL�
3RO\SURSLOHQH� +ROORZ� )LEHU´�� 8QLYHUVLWDV�
,QGRQHVLD��'HSRN

0DQXUXQJ� -HSOLQ�� ������ ³6WXGL� (IHN� -HQLV� GDQ� %HUDW
.RDJXODQ� 7HUKDGDS� 3HQXUXQDQ� 1LODL� &2'�
GDQ� %2'� 3DGD� 3HQJRODKDQ� $LU� /LPEDK�
'HQJDQ� &DUD� .RDJXODVL´�� )0,3$�
8QLYHUVLWDV�6ULZLMD\D

1LQJVLK�� 5L\DQ�� ������ ³3HQJDUXK� 3HPEXEXKDQ� 7DZDV�
'DODP�0HQXUXQNDQ� 766� 3DGD� $LU� /LPEDK
5XPDK� 6DNLW´�� 8QLYHUVLWDV� 0XODZDUPDQ��
6DPDULQGD����������

5HSXEOLN� ,QGRQHVLD�� ������ 8QGDQJ�8QGDQJ� 5HSXEOLN�
,QGRQHVLD� 1RPRU� ��� 7DKXQ� ����� 7HQWDQJ�
3HQJHORODDQ� 6DPSDK�� 6HNUHWDULDWDQ� QHJDUD��
-DNDUWD

5XVGL��6LGL��7��%��3���	�3UDWDPD��5�� ������ ³3HQJDUXK�
.RQVHQWUDVL� 'DQ� :DNWX� 3HQJHQGDSDQ� %LML�
.HORU�7HUKDGDS�S+��.HNHUXKDQ�'DQ�:DUQD�
$LU� :DGXN� .UHQFHQJ´�� -XUQDO� ,QWHJUDVL�
3URVH�����������

6DKZDQ�� )LUPDQ�� ������ ³7HPSDW� 3HQJRODKDQ� 6DPSDK�
7HUSDGX� �7367�� 8UJHQVL� 'DQ�
,PSOHPHQWDVLQ\D´�� -XUQDO� 5HND\DVD�
/LQJNXQJDQ���

6DLG�� 0XKDPPDG�� ������ ³3HQJRODKDQ� $LU� /LPEDK�
/DERUDWRULXP� GHQJDQ� 0HQJJXQDNDQ�
.RDJXODQ�$OXP�6XOIDW�GDQ�3ROL�$OXPLQLXP�

.ORULGD��3$&�´��-XUQDO�3HQHOLWLDQ�6DLQV��
����������

6LUHJDU��$6��������,QVWDODVL�3HQJRODKDQ�$LU�/LPEDK��
.DQLVLXV��<RJ\DNDUWD�


